



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (Commerce) 8th Semester Morning Session: Autumn 2025

Registration #	Name	AA441					ACC672					ACC682					ACT304					ACT415					AUD404				
		Advanced Accounting					Corporate Law					Advanced Auditing					Principles of Accounting-I					Principles of Cost Accounting					Principles of Auditing				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BS(Com)/A-19/M/C/2835	Qasim Raza	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS(Com)/A-20/M/A/736	Sameer Ashraf	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	70	B	3.0	3	9.0	
IS/BS(Com)/A-20/M/B/755	Bilal Hassan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS(Com)/A-20/M/B/790	Umer	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	
IS/BS(Com)/S-19/E/1105	Ali Hassan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/Com/A-21/M/007	Anosha Noor	-	-	-	-	75	B+	3.5	3	10.5	81	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/Com/A-21/M/017	Hamza Fazal	-	-	-	-	55	C	2.0	3	6.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/Com/A-21/M/019	Hassan Raja	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-		
IS/BS/Com/A-21/M/038	Muhammad Touqeer	70	B	3.0	3	9.0	71	B	3.0	3	9.0	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/Com/S-21/M/661	Muhamamd Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/Com/S-21/M/670	Umar Saleem	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0		
IS/BS/Com/S-22/M/006	Danish Asif	-	-	-	-	82	A	4.0	3	12.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/Com/S-22/M/007	Dilawar Hussain	-	-	-	-	65	C+	2.5	3	7.5	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/Com/S-22/M/009	Hamna	-	-	-	-	81	A	4.0	3	12.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/Com/S-22/M/010	Hamza Tanveer	-	-	-	-	67	C+	2.5	3	7.5	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/Com/S-22/M/012	Hassaan	-	-	-	-	70	B	3.0	3	9.0	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/Com/S-22/M/014	Muhammad Hassan Abbas	-	-	-	-	70	B	3.0	3	9.0	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/Com/S-22/M/016	Muhammad Zain Akbar	-	-	-	-	75	B+	3.5	3	10.5	76	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 20/02/2026



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (Commerce) 8th Semester Morning Session: Autumn 2025

		BM541					CD602					EC502					FA551					FIN313					FIN662				
		Business Mathematics-II					Community Development					Environmental Sciences					Financial Accounting					Introduction to Money and Banking					Financial Statement Analysis				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BS(Com)/A-19/M/C/2835	Qasim Raza	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
IS/BS(Com)/A-20/M/A/736	Sameer Ashraf	74	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
IS/BS(Com)/A-20/M/B/755	Bilal Hassan	-	-	-	-	-	-	-	-	-	-	74	B	3.0	3	9.0	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-
IS/BS(Com)/A-20/M/B/790	Umer	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	24	F	-	3	-	
IS/BS(Com)/S-19/E/1105	Ali Hassan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/Com/A-21/M/007	Anosha Noor	-	-	-	-	-	83	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/Com/A-21/M/017	Hamza Fazal	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/Com/A-21/M/019	Hassan Raja	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	74	B	3.0	3	9.0	70	B	3.0	3	9.0	-	-	-	-	-
IS/BS/Com/A-21/M/038	Muhammad Touqeer	-	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/Com/S-21/M/661	Muhamamd Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/Com/S-21/M/670	Umar Saleem	74	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	16	F	-	3	-	
IS/BS/Com/S-22/M/006	Danish Asif	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/Com/S-22/M/007	Dilawar Hussain	-	-	-	-	-	81	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/Com/S-22/M/009	Hamna	-	-	-	-	-	86	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/Com/S-22/M/010	Hamza Tanveer	-	-	-	-	-	84	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/Com/S-22/M/012	Hassaan	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/Com/S-22/M/014	Muhammad Hassan Abbas	-	-	-	-	-	78	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/Com/S-22/M/016	Muhammad Zain Akbar	-	-	-	-	-	74	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 20/02/2026



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (Commerce) 8th Semester Morning Session: Autumn 2025

		FIN681					FM632					HRM306					HRM413					IF522					MA631				
		Investments					Financial Management					Human Behavior / Introduction to Psychology					Principles of Human Resource Management					Introduction to Finance					Managerial Accounting				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BS(Com)/A-19/M/C/2835	Qasim Raza	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
IS/BS(Com)/A-20/M/A/736	Sameer Ashraf	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	F	-	3	-	-	-	-	-	-
IS/BS(Com)/A-20/M/B/755	Bilal Hassan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-
IS/BS(Com)/A-20/M/B/790	Umer	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
IS/BS(Com)/S-19/E/1105	Ali Hassan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
IS/BS/Com/A-21/M/007	Anosha Noor	-	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
IS/BS/Com/A-21/M/017	Hamza Fazal	-	-	-	-	-	55	C	2.0	3	6.0	74	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0
IS/BS/Com/A-21/M/019	Hassan Raja	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
IS/BS/Com/A-21/M/038	Muhammad Touqeer	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
IS/BS/Com/S-21/M/661	Muhamamd Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
IS/BS/Com/S-21/M/670	Umar Saleem	73	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
IS/BS/Com/S-22/M/006	Danish Asif	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
IS/BS/Com/S-22/M/007	Dilawar Hussain	-	-	-	-	-	72	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
IS/BS/Com/S-22/M/009	Hamna	-	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
IS/BS/Com/S-22/M/010	Hamza Tanveer	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
IS/BS/Com/S-22/M/012	Hassaan	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
IS/BS/Com/S-22/M/014	Muhammad Hassan Abbas	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
IS/BS/Com/S-22/M/016	Muhammad Zain Akbar	-	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 20/02/2026



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (Commerce) 8th Semester Morning Session: Autumn 2025

		MAT552					MGT312					MIS612					PHRM432					PM451					RP641				
		Management Accounting Technique					Business Communication					Management Information System					Principles of Human Resource Management					Principles of Management					Research Project				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BS(Com)/A-19/M/C/2835	Qasim Raza	-					-					-					-					-					-				
IS/BS(Com)/A-20/M/A/736	Sameer Ashraf	45	F		3		-					-					-					-					-				
IS/BS(Com)/A-20/M/B/755	Bilal Hassan	-					-					-					-					-					-				
IS/BS(Com)/A-20/M/B/790	Umer	-					-					-					-					-					-				
IS/BS(Com)/S-19/E/1105	Ali Hassan	-					-					-					-					-					-				
IS/BS/Com/A-21/M/007	Anosha Noor	-					-					80	A	4.0	3	12.0	-					-					-				
IS/BS/Com/A-21/M/017	Hamza Fazal	-					-					64	C	2.0	3	6.0	-					-					-				
IS/BS/Com/A-21/M/019	Hassan Raja	-					-					-					-					65	C+	2.5	3	7.5	71	B	3.0	3	9.0
IS/BS/Com/A-21/M/038	Muhammad Touqeer	-					74	B	3.0	3	9.0	78	B+	3.5	3	10.5	-					-					-				
IS/BS/Com/S-21/M/661	Muhamamd Ali	-					-					-					70	B	3.0	3	9.0	-					-				
IS/BS/Com/S-21/M/670	Umar Saleem	-					-					-					-					-					-				
IS/BS/Com/S-22/M/006	Danish Asif	-					-					81	A	4.0	3	12.0	-					-					-				
IS/BS/Com/S-22/M/007	Dilawar Hussain	-					-					77	B+	3.5	3	10.5	-					-					-				
IS/BS/Com/S-22/M/009	Hamna	-					-					81	A	4.0	3	12.0	-					-					-				
IS/BS/Com/S-22/M/010	Hamza Tanveer	-					-					80	A	4.0	3	12.0	-					-					-				
IS/BS/Com/S-22/M/012	Hassaan	-					-					76	B+	3.5	3	10.5	-					-					70	B	3.0	3	9.0
IS/BS/Com/S-22/M/014	Muhammad Hassan Abbas	-					-					76	B+	3.5	3	10.5	-					-					-				
IS/BS/Com/S-22/M/016	Muhammad Zain Akbar	-					-					80	A	4.0	3	12.0	-					-					-				

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 20/02/2026



**FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD**  
**BS (Commerce) 8th Semester Morning Session: Autumn 2025**

		SI542					SM622				
		Statistical Inference					Strategic Management				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BS(Com)/A-19/M/C/2835	Qasim Raza	20	F	-	3	-	-	-	-	-	-
IS/BS(Com)/A-20/M/A/736	Sameer Ashraf	50	D	1.5	3	4.5	74	B	3.0	3	9.0
IS/BS(Com)/A-20/M/B/755	Bilal Hassan	65	C+	2.5	3	7.5	-	-	-	-	-
IS/BS(Com)/A-20/M/B/790	Umer	-	-	-	-	-	74	B	3.0	3	9.0
IS/BS(Com)/S-19/E/1105	Ali Hassan	70	B	3.0	3	9.0	-	-	-	-	-
IS/BS/Com/A-21/M/007	Anosha Noor	-	-	-	-	-	85	A	4.0	3	12.0
IS/BS/Com/A-21/M/017	Hamza Fazal	-	-	-	-	-	88	A	4.0	3	12.0
IS/BS/Com/A-21/M/019	Hassan Raja	-	-	-	-	-	-	-	-	-	-
IS/BS/Com/A-21/M/038	Muhammad Touqeer	-	-	-	-	-	89	A	4.0	3	12.0
IS/BS/Com/S-21/M/661	Muhamamd Ali	-	-	-	-	-	-	-	-	-	-
IS/BS/Com/S-21/M/670	Umar Saleem	-	-	-	-	-	74	B	3.0	3	9.0
IS/BS/Com/S-22/M/006	Danish Asif	-	-	-	-	-	90	A	4.0	3	12.0
IS/BS/Com/S-22/M/007	Dilawar Hussain	-	-	-	-	-	84	A	4.0	3	12.0
IS/BS/Com/S-22/M/009	Hamna	-	-	-	-	-	87	A	4.0	3	12.0
IS/BS/Com/S-22/M/010	Hamza Tanveer	-	-	-	-	-	91	A	4.0	3	12.0
IS/BS/Com/S-22/M/012	Hassaan	-	-	-	-	-	80	A	4.0	3	12.0
IS/BS/Com/S-22/M/014	Muhammad Hassan Abbas	-	-	-	-	-	87	A	4.0	3	12.0
IS/BS/Com/S-22/M/016	Muhammad Zain Akbar	-	-	-	-	-	90	A	4.0	3	12.0

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 20/02/2026